HHMTFEIOA7THRET

722% (2)

B1LWEBE S5 EL28_ TN
ARy " BESTHEY T3 hs
£F6x=3 "1 A6 L °®baﬁ£§ﬁ§)\a
ETs2zE» ,7P875»FT309 2 3=
~2@m2085 08X 6BE “FBs5H
0, 0>TFT®gEH8<RE £ R
WOl gaR% ~Bx 2% —
Th2 BT O0ZzA20z@k2E 2@
EAXeEmMOERRS>o508c 2% °
ER 2L CEEDHOE LT
DEZsIEEISEgnnr g8 BS5e
[EHL]47(85,4005H [EA]49{24,3005 M
. Ban ZOft 2,800 (0.5%) . o
FiRE 05F (0.0% )T T650073P§ (1.4%) #7558 7,000 (1.4%) 28129078 3%
fasitish 5,20078 (1120 g ] W5 MBS R 1481,800753 <z.4%)ﬂ it h
KEEOE o (2.4%)
1,8002M NEE 1]} =
A i I - FBINA
(0.4%) 417,300/ 483,60075F3 5%?’172%7? 4,400
—— (9.9%) wixE (8.8%) : (0.9%)
8{88,2005M HPERV
3{86,7005M (7.7%) o LS Zl
(18.6%) ST aiee
(8.1%) BEEE 3’000075':'3
SR (24.2%) zofm  (06%)
2{87,00080 (5.7%) 2{82,1008M (4.5%)
EEZHS
6{83,6005M
TAE REH (12.9%]
6158,6005H 12{82,5005A
(14.4%) (25.8%)
TS AT
20126,3005H
(41.7%)
RE T S
1482,4005 (2.6%) J L
AL it 2% 218530050 (5.3%)
31&3,9008M (7.1%)
W $5RI=Et m A m @B N —RSETRARDDHERE
(A — 2=
DREEEREIAST 11483,3005M@  11482,2005M o ;s
SR EERERIAST 9,400 9,0005M S4R6.0007H 548100753
51{81,6005H
NEERRRFRIRET 1085,30057M 1085005 M 48{86,9005H 49(84,3005M
50 538150055 52{86,90077M
S GEBEERIRS 2181,10055M 28M o
o 47{%5,4005H
BEMA e ERERRIAE 17007573 17007573 a0
SRR EESHRIR 3,5005 3,50059 40
(FrY) 265EE 2758 28FE 29FFE 30EE
X % 30ERATIER % ne 1 B o ? %‘ ;é 1 X 49 0FERESES g
1B IR = \ N
BIRWFFRE | 17RO00PE| 2 B2 B LB A h B MEEEES 1481005 | | ==
DiSIREEE | 28580050 | 0 3 % ~ A © & B . H
ey - i BEGYBRGER AERS 1,0005A | =5
HE - BihERE 1185,5005F | @ F=EzBEHR D = — " - =
SEMEGTRE | 16710050 23 L ol BERENRBEES 1186.1005M | =
d 32 \ 2
Z Ot 4fg8.9005M | % B & POl EE®Y 3BT EHERR 35005 | |5
& &t 45(87,0005M| =R B X T B R 2 = '
8 ¢ : ﬁ - % : % < %0)1_113 6{88,50075
iﬂﬁfﬁﬁ%?ﬁ@ " N & 5t 32{E2005M
s . . = 2 &t W ICB
WAERE | SAREBRIAE | RHESI05E MEARESRS TR EE
W27ERE (NI AR =
= & M
TH28EE | 4635005 | 3813005 | 82,2005 1215200 O X@dETaA
W28EE IE T R
1482,80075M ? nELT LM
TR2OFE | 45(58,6005M 36{83005M | 9f&8,30055M W29 T L2 RE RS
= Lai 2% 9 #
14182,800HM EC E TR BN %
e = - " W30EE BB EFE S Z
TR30FE | 45(87,0006@ | 36{26,500/50 9500/ 14810055 %', ?5 2 L (HE g F:




